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QUESTION 1

Which of the following is a re-usable artifact that is used to create architecture models addressing stakeholder

concerns?
A. Catalog
B. Matrix

C. Diagram
D. View

E. Viewpoint

Correct Answer: E

QUESTION 2

Which one of the following is responsible for the acceptance and sign-off of an Architecture Compliance review?

A. Architecture Board

B. Architecture Review Co-ordinator
C.CIO

D. Lead Enterprise Architect

E. Project Leader

Correct Answer: A

QUESTION 3

Which of the following describes the TOGAF Technical Reference Model?
A. A Common Systems Architecture

B. A Foundation Architecture

C. An Industry-Specific Architecture

D. An Organization-Specific Architecture

E. A Solution Architecture

Correct Answer: B
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QUESTION 4

Which of the following best describes the TOGAF classification in Phase H for a re-architecting change?
A. A change driven by a requirement to derive additional value from the existing investment

B. A change driven by a requirement to increase investment in order to create new value for exploitation
C. A change driven by a requirement to reduce costs

D. A change driven by a requirement to reduce investment

E. A change driven by a requirement to re-align with the business strategy

Correct Answer: B

QUESTION 5

Complete the sentence. According to TOGAF, a view is used to describe how the of a stakeholder are being
met.

A. concerns

B. constraints
C. interests

D. perspective
E. requirements

Correct Answer: A
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